CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - HIMALAYA MATHS (KANNADA
ENGLISH)

Pair Of Lines

Question Bank

1. A value of p for which the equation

z? +pry+vy> —5x —Ty+6 =0 represents a

pair of lines is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_t4uDXSEQfOE1

Answer: A

o Watch Video Solution

2. The value of k for which
y* + xy + kx> —x — 2y + k = 0 represents two

lines is


https://dl.doubtnut.com/l/_t4uDXSEQfOE1
https://dl.doubtnut.com/l/_uxY17CmoJpro
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Answer: C

o Watch Video Solution

3. The distance between the pair of parallel lines

8:1:2—|—8a:y—|—2y2—|—26:1:+13y—|—15:0is
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https://dl.doubtnut.com/l/_uxY17CmoJpro
https://dl.doubtnut.com/l/_jgUPYgHJqtzc
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Answer: B

o Watch Video Solution

4. The equation to the pair of lines through the

origin and perpendicular to 5z — 3% = 0'is

A.ar:2—|—y2 = 2

B.z? — 5y =0



https://dl.doubtnut.com/l/_jgUPYgHJqtzc
https://dl.doubtnut.com/l/_CIYiAXAR9q75

Answer: B

o Watch Video Solution

5.1f one of the lines az? 4 2hzy + by® = 0 bisects
the angle between the aaxes in the first quadrant
then

Ah*—ab=10

B.h? +ab=0


https://dl.doubtnut.com/l/_CIYiAXAR9q75
https://dl.doubtnut.com/l/_iIUA8SaNhR6J

C.(a +b)* = h?

D. (a + b)* = 4h?

Answer: D

o Watch Video Solution

6. The condition that the slope of one the lines of
az? + 2hzy + by?> = 0is twice the other is

A.h* = ab

B.2h* = 3ab

C.8h% = 9ab


https://dl.doubtnut.com/l/_iIUA8SaNhR6J
https://dl.doubtnut.com/l/_LdHMonPEYy6j

D. h? = 9ab

Answer: C

° Watch Video Solution

7. The slope of one of the |lines
222 + 3zy + Ay? = 0is 2, then the angle between

the lines is

>

®
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0


https://dl.doubtnut.com/l/_LdHMonPEYy6j
https://dl.doubtnut.com/l/_zfLargxhwl7p

Answer: D

° Watch Video Solution

8. If the pair of lines xy —x —y + 1 = 0 and the

line ax 4+ 2y — 3 = 0 are concurrent then a =

B.O

C.3

D. 1


https://dl.doubtnut.com/l/_zfLargxhwl7p
https://dl.doubtnut.com/l/_xvmdvApBZYBN

Answer: D

o Watch Video Solution

9. The equation az® + by® +cx +cy=0,c # 0

represents a pair of lines, if

Aa+b=0
Bb+c=0
Ca+c=0

D.a+b+c=0

Answer: A



https://dl.doubtnut.com/l/_xvmdvApBZYBN
https://dl.doubtnut.com/l/_0TGOgp1PNUqJ

‘ ° Watch Video Solution

10. If 22 —kzy —y®> +2y+ 2 =0 represents a

pair of lines than the value of k is

A /2

B.2

C.2y/2

D. none of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0TGOgp1PNUqJ
https://dl.doubtnut.com/l/_MEhMdjqTQ2ZO

11. The equation to the pair of lines passing
through (1,-1) and parallel to the pair of lines
z? — Tey + 12y° = 0is
A(r—3y—4)(x—4y—5) =0
B.(zx —3y—4)(z+4y—5) =0
C(r+3y—4)(z—3y—5 =0

D.(z +3y—4)(x —4y+5) =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gczBKtqcB2BQ

12. The equation
922 + 24zy + b?y® — 122 + 16y — 12 =0

represents a pair of parallel lines then b =

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lA5lgdAakl1M

13. Distance between the pair of lines represented
by the equation

2 —6xy+ 9y’ +3c — 9y —4=10is

15
A ——
v/10
. 1
"2
c 5
V2
1
D. —
v/10
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_C8sKdmRCbKGC

14. The join of (-3,2) and (4,6) is cut by x -axis in the

ratio

A. 2: 3 internally

B. 1: 2 externally

C. 1: 3 externally

D. 3: 2 internally

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7krkfl8HT8Ul

15. The sum of the slopes of the lines represented
by 4z + 2hzy — Ty* = 0 is equal to the product

of the slopes then h is

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CeE5lHcEzGNa

16. If one of the pair of lines represented by
az’ + 2hzy + by® = 0is y = ma, then
A.a+ 2hm +bm? =0
B.b+ 2hm 4+ am? =0
C.h 4 2am + bm? = 0

D.h + 2hm + am?® = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SEKnD9wCIiS6

17. If one of the pair of lines represented by

6z + 2hzy — 3y° = 0isy = 3z, then h =

>

=
N[~ o] o

D.7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JeqBcRBaTMc9

18. The angle between the pari of lines represented

by z* — Txy + 12y> = O'is :

sin~ (1)
—5—
sin~ (1)
—
sin~ (1)
V170
sin~ (1)

/85

D.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gbV7ZeicdDvr

19. The distance between the parallel lines given by

(x + 7y)2 +4y/2(z + Ty) — 42 =0'is

A2

B.7

C.4/2
D. 8/2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0BbYAL2zhDk1

20. If the slope of one of the lines represented by

az’ — 6zy +y®> =0 is the square of the other

then
A.a=1
B.a =4
C.a=©56
D.a =8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DYJD4QzfsnxF

21. If the pair of lines az? + 2hzy — ay® = 0 and
bz® 4+ 2gzy — by? = 0 be such that each bisects

the angle between the other then

A.ab+gh =0
B.h2 —ab=0
C.ah +bg =0
D.ag+ bh =0
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_F04ThQ7t5XeR

22. If the pairs of lines
322 — 2pzy — 3y® = 0 and 5z° — 2qzy — 5y° =0
are such that each pair bisects the angle between

the other pair then pq equals

Al

D.-15

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XzBYF5JC76R0

23. The equation x-y=4 and z? +4zy+ y> =0
represent the sides of

A. an isosceles triangle

B. an equilateral triangle

C.a angled triangle

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ASyllTuApQgs

24, If az®+2hzy+by:+ 29z +2fy+c=0

represents a parallel lines, then

A hf = bg
B.h? = bc
C.a’f = b%g

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_j6rj1YtCTH8n

25. If 22 —kxy —y®> +2y+ 2 =0 represents a

pair of lines than the value of k is
A2

1
B. —
V2

C.2

~

D. /2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9OJvYBDKesvF

26. If the pair of lines az? + 2hzy + by® = 0 is
rotated about the origin through 90°, then their
equation in the new position is given by

A az® — 2hzy — by? = 0

B.az? — 2hzy + by’ = 0

C.bz? + 2hzy + ay® = 0

D.bz* — 2hxy + ay® = 0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_UbtZ9nUMUtrd

27. Area of triangle formed by :

222 + zy — 3y* = 0 and x+y=3 is

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fvSILzb9I07Q

28. The equation of the pair of lines through the
origin, the sum and the product of whose slopes
are respectively the arithmetic and geometrical
mean of 9 and 16 is

A. 24z% — 25zy + 242 = 0

B. 24z + 25zy + 2y> = 0

C.24z% — 252y — 2y°> = 0

D. 2z% + 25zy — 24y® = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ulkc0QZtY1ih

29. Centroid of the triangle formed by the sides y-1

=0 and 2% + Tzy + 2y° = 0is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_anwlNYgoGIeW

30. Orthocentre of the triangle formed by the lines
x+y+1=0 and
22> —xy—y’ +x+2y—1=0is

A. (0,1)

B. (-1,0)

C. (-1,1)

D. (1,1)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tQWimQdQlK1v

31. The angle between the pair of straight lines

y?sin? 0 — zysin® 6 + z* (cos2 0 — 1) =0is

po| C,\,|l>\]> =~ w3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_sPylyK0CfGOp

32. The equation of pair of lines joining origin to
the points of intersection of z?+ 3> =9 and
x+y=3is

A dx? — 9zy + 4y® = 0

B.2z% — Tay — 2y> =0

C.4z? +9zy + 4y* = 0

D.2z% 4+ Tzy — 2y =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bhReiU4zU1Pr

33. The equation of second degree
x4+ 2422y +2y° +4x +4/2y+1=0
represents a pair of parallel lines, then the distance
between them is

A4

B.4,/3

C.2

D.2,/3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GLWt4bXFimXj

34.If the angle between two st lines represented by
2% + 5zy + 3y’ + Ty +4 = 0is tan~ ' m then m

equals

Al
5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GC3DoHihzcrp

35. If the lines joining the origin to the points of
intersection of the line y =mx +2 and the curve

z? + y* = 1 are right angles then

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_L3gPRiIoFfok

36. A diagonal of the rectangle formed by the lines
z? —Tx +6 =0andy? — 14y + 40 = O'is

A 5z — 6y =0

B.5x + 6y = 0

C.bx —by—14=20

D.6z —5y+14 =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oycc5lregOmw

37. The equation of the pair of lines passing

through (0,1) and parallel
222 + bxy+3y* + 6z + Ty +4 =0is
A 2z% 4+ b5zy+3y> — bz —6y+3 =0
B.2z° + 5xy + 3y + 5z — 6y +3 =10
C.2z° + 5y +3y* — 5z +6y+3=0

D. 222 + 5zy+3y* + 5z + 6y +3 =0

Answer: A

to

o Watch Video Solution



https://dl.doubtnut.com/l/_xSREf5aKD5vV

38. If 4xy + 2z + 2fy + 3 = 0 represents a pair of

lines, then f =

A2

B.3

C.5

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YGGqefE4uEMs

39. The equation of the pair of lines passing
through the origin and each is at a distance of 2
units from (1,1) is

A3z — 22y —3y° =0

B.3z% + 2zy + 3y*> = 0

C2z +2y—3y° =0

D.2z° — zy — 3y® = 0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Vda8ESm06ISt

40. The equation of the pair of lines passing
through the origin and perpendicular to the pair
1022 + 4zy — 2y* = O'is

A 2z? — dzy + 10y2 = 0

B. 222 + 4dzy — 10y* = 0

C.2z% + 4zy — 10y* = 0

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZIKGzLbdWks6

41. If az®+ 2hay+ by? + 29z + 2fy +c =0

represents a parallel lines, then

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CYHD7JdqMQp0

42.The product of the perpendiculars from (1, 1) to

the pair of lines 2% + 4zy + 3y*> = 0 s

A3

0

o

=% S| -

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bvdq6S9PT6gJ

43. If one of the lines az?+ 2hzy + by?> = 0
bisects the angle between the aaxes in the first
quadrant then

A a® + b2 = 2h2

B.a? + b* — h?

C. (a+b)* = h?

D. (a + b)* — 4h?

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jlDqpW0VLZfE

44. Equation of pair of lines passing through (2,1)
and perpendicular to the lines
6x> + 17zy + 12y*> = O1is
A 122% — 17Tzy + 6y% — 31z — 22y + 64 = 0
B. 122 — 17zy + 6y° + 31z + 22y — 104 = 0
C.122% — 17zy + 6y® — 31z + 22y + 20 = 0

D.12z% — 17zy + 6y® — 31z — 22y — 20 = 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_J4slGXAW9JMQ

45, The values of p and q for which the equation
dz? + 2pzy + 25y° + 2z + 5y + ¢ = 0 represents
a pair of parallel lines is

Ap=10, g€ R

B.p= —10, g = — 12

Cp= —10, g=12

1
D.p =1 < =
D O,q_4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fVFMKYiekAqh

46. Area of the parallelogram formed by
2x% + oxy + 3y2 =0 and
2z° + bxy +3y° + 3z +4y+1=0is

A 2

B.1

C. 4

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tkxCtPA9XwNW

47. The four lines given by 3> — 4y + 3 = 0 and
z? + dey + 4y* — 5y — 10y + 4 = 0 form a

A. parallelogram

B. square

C.rhombus

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jDKas1iqPobI

48. The four lines given by 322 + 102y + 3y =0
and 322 + 10zy + 3y* — 28z — 28y +49 =0
form a

A.rhombus

B. square

C.triangle

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fRwCgckdEUwk

49. The four lines given by the equations
1222 + Txy — 12y° = 0 and

122% + Txy — 12y — z + Ty — 1 = O lie along the
sides of a

A. square

B. parallelogram

C. rectangle

D.rhombus

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8yFCKTQHcADM

50. The point of intersection of perpendicular lines

ax? +3zy — 2y  — 5z +5y+c=0is

A12
"\373

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eaZo1f2dhEVk

51. The coordinates of the orthocentre of the
triangle formed by the lines 2z* — 3zy + y* = 0

andz 4+ y = 1,are

A11
\4’ 4

B. (1,1)

c 1 1
{32)
o (11
{3:3)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ILdIdoSgvqUZ

52. The area of the triangle formed by the lines
r? +dey+y =0,z +y=1is

A /3

B.2

C.1

V3
D=5~

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4iAW97gvb8op

53. The condition that the slope of one the lines of
az’ + 2hzy + by® = 0 is twice the other is

A.-h* = ab

B. 2h° = 3ab

C.8h% = 9ab

D. h? = 9ab

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5b4zrv0QBh9E

54. The acute angle between the Ilines

z? — 2zyseca + y® = 0is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CQnei6NB4hcG

55. Condition that a pair of lines are at right angle
is

A. sum of the coefficients of 22 and y2 =0

B. xy term is absent

C. constant term is absent

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bXSWYY7foovg

56. If 22 — kzy —y®> +2y+ 2 =0 represents a

pair of lines than the value of k is

A /2

B.2

C.2y/2

D. none of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CShyUlGD0pn4

57.The angle between the lines 2% + 4zy — y* = 0
is

A.90°

B.O

C. 45°

D. 60°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bijIY7ILbPXm

58.  Acute angle between the lines

y® — 24/3zy + 3z° = 0is

A.0
B.30°
C.45°

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7by3QwWnor0B

59. If 22 + ky? +  — y = 0 represents a pair of

lines then k =

A1l

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bDLoFOri1yJ4

60. Angle between
V3(z® +y°) —dzy = Ois
A.30°
B.60°

tan—1(1
¢ fan— (1)

Answer: A

the

lines

o Watch Video Solution



https://dl.doubtnut.com/l/_uvpi0Dxj4GWd

61. Angle between the lines 22 + /17zy + 2y> = 0

IS

A.30°
B.45°
. 60°

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JzUrZI9p4AgF

62. If kz? — y* + 2z — y = 0 represents a pair of

lines, then &k =

A4

D.2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zZHbOpEPUHPI

63. The joint equation of the straight lines x + y =1

and x-y=41is
Az’ —y’= —4
B.z? —y? =4

Cle+y—1(z—y—4) =0

D.(x+y+1)(x—y+4) =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VsinaD1Pp3sf

64. The combined equation of y -axis and the line

r—1=20is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_S6Mho1Haw0vs

65. The sum of the slopes of the lines represented
by 4z + 2hzy — Ty* = 0 is equal to the product

of the slopes then h is

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Ih9qXvxx5msi

66. If the equation % + y* + 29z + 2fy+1=0

represents a pair of lines then

Afi—g*=1

B.f24+¢°=1

C.g?—f2=1

1

D.f2+g° = =

fo+g 5
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Cpw5zccRg1Iw

67. Equation of the separate lines of the pair of

2

lines, whose equation is ° — zy — 12y% = 0 are

given by
Azxz+4y=0andz —3y=0
B.x —6y=0andz — 3y =20
C.2z —3y=0andx —4y =0

D.z —4y=0andz 4+ 3y =0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6DHFh5vmlgCT

68. If the slope of one of the lines gives by

az® + 2hzy + by® = 0is 5 times the other, then

A.5h? = 9ab
B.5h? = ab
C.h? = ab
D.9h% = 5ab
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qda641ZUhfth

69. If ax® — y* + 4z — y = 0 represents a pair of

lines then a ...

A.-16
B. 16

C. 4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_raLqrwuuSm6J

70. The distance between the pair of parallel lines
2 2 2 _ ;i
x4+ 2xy+ y° — 8ax — 8ay — 9a” = O is..
A.2,/5 a
B.,/10 a
C.10a

D.5v/2a

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wfpr3BOVG8za

71.The lines represented by az?® + 2hzy + by* = 0
are perpendicular to each other if

Aa+b=0

B.A® =a+b

CCh=0

D.h? = ab

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PEWQrzIFGO1t

72. The area enclosed by the pair of lines zy = 0,

thelinex —4=0andy+5=20is

A. 10 sq. units

B. 20 sqg. units

C. 0 sqg. units

D. — sq. units
A q

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l8NTXMgwxRd7

73. The lines given by
z? + 2zy — 35y° — 4z + 44y — 12 = Oand the line
bt 4+ 2y — 8 = O are

A. parallel

B. concurrent

C. coincident

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hpfgEHWCmdcc

74. If the pair of lines
az® + 2hzy + by® + 29 + 2fy + ¢ = 0 intersect
on y -axis then

A.2fgh = bg* + ch?

B. bg? # ch?

C. abc = 2fgh

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BmWINA5FL2Cc

75. The pair of lines represented by
3az? + bxy + (a2 — 2)y2 = 0 are perpendicular
to each other for

A. two values of, a

B. for all a

C.for one value of a

D. for no value of a

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cDqmWt1jyFDc

76. If the pairs of lines 2 — 2pzy — y*> = 0 and
z? — 2gzy — y® = 0 be such that each pair bisects

the angle between the other pair then

B. pg =1

Cpg= —1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_D5alEfYiInc9

77. If the sum of the slopes of the lines given by
z? — 2cxy — Ty? = 0 is four times their product

then c has the value

A1l

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DIvK0efBFarb

78.1f one of the lines given by 622 — xy + 4cy®? = 0

is3x + 4y = 0, then c =

A3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xAG74iWjUhXX

79. If the pair of lines az® + 2(a + b)zy + by® = 0
lie along diameters of a circle and divide the circle
into four sectors such that the area of one of the
sectors is thrice the area of another sectors, then:
A.3a* + 10ab + 3b* = 0
B.3a” + 2ab + 3b* = 0

C.3a> — 10ab+ 3> = 0

D.3a% — 2ab + 3> = 0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2niQ7mZUBntR

80. If the angle between the pair of lines

2 2 : (1
x® —3xy+ Ay +3x — 5y + 2 =0is tan (5)

where A is a non-negative real number, then A =

A2
B.O
C.3

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BY59xPmVoga9
https://dl.doubtnut.com/l/_IIhLtxvQI8Tn

81. The triangle formed by z? — 3y®> = 0 and = = 4
is

A.isosceles

B. equilateral

C. angled

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IIhLtxvQI8Tn

82. The distance between the pair of parallel lines

z? +dey+ 4y +3c+6y—4=0is

o Watch Video Solution



https://dl.doubtnut.com/l/_UlRRuRub9KjW

83. If the lines
222 + Tey+ 3y  — 9z —Ty+ k=0 represents a
pair of lines, then k =

A 4

B.2

C.1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yEvYF3mABla3

84.The equation of bisectors of the angle between
the two lines 222 — 3zy + y* = O'is

A3z? + 2y —3y> =0

B.3z% — 2zy — 3y®> = 0

C.3z% +2zy+3y =0

D.3z% — 2zy’ +3y° =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NWhgy01i83Hk

85. The quadrilateral formed by the pair of lines

xy+rz+y+1=0zy+3x+3y+9=20isa

A. parallelogram

B. rhombus

C. rectangle

D. square

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_sBlMAEam9jAf

86.If zy+z+y+1=0andz+qy—3 =0 are

concurrent then g =

A3

B.2

D. 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RgOH4ApyQJjN

87. The equation
z? — 3zy+ Ay + 3z — 5y + 2 =0, whose X is a
real number, represents a pair of lines. If 8 is the
angle between the lines then
opera — rname(cos ec)’0 =

A3

B.9

C.10

D. 100

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1sgBLzSoykfy

88. Circumcentre of the triangle formed by the lines

Xy+2x+2y+4=0 and x+y+2=0 is

A. (0,0)

B. (-2,-2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1sgBLzSoykfy
https://dl.doubtnut.com/l/_Y1Me92lIiCwY
https://dl.doubtnut.com/l/_OHk8VHePufaK

89. The distance between the parallel lines

92% — 6zy +y> + 18z — 6y +8 = 0is

o >
4l gl
o o o

N

o
<
p—t
)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OHk8VHePufaK

90. The angle between the pair

222 +bxy+ 2y  +3x +3y+1=0is

A. cos ! é

' 5!
4

B.tan ' =

C.0

5 T
-2

Answer: A

of

lines

o Watch Video Solution



https://dl.doubtnut.com/l/_S6nk2C95keWd

91. The combined equation to a pair of lines passing
through the origin and inclined 30° and 60°
respectively with x -axis is

A. \/3(332 + y2) = 4y

B.4(932 + yz) = /32y

C.4(3U2 + yz) = /3zy

D.z% + 3y® — 22y = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_G2WBmGBPrMnW

92. The pair of Lines h(a:2 — y2) + pxy = 0 bisects
the angle between the pair az?® + 2hzy + by® = 0
then the value of pis

Aa—b>

B.b —a

C.a—+b

D.a +b

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RaaEQfzpfcf6

93. The equation of the pair of bisectors of the
angles between the pair of lines

z? — 2azy — y* = 0is z® — 2bzy — y*> = 0. Then

Aab=1
B.ab+1=0
C.ab =2
D.ab+2 =0
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_x42aCXkMkqpK

94. The triangle formed by the pair of lines
z? — 4y = 0and the linez — a = 0 s always

A. equilateral

B. isosceles

C.angled

D. scalene

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BupfYnEGZudT

95. Point of intersection of pair of lines
z? +ry+ 20  — 3z +2y+4=0is

A. (1,2)

B. (-1,2)

C.(-2,1)

D. (2,-1)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VAYpyr7gAVfQ

96. If ax’+ 6zy+ by’ — 10z + 10y—6 =0
represents a pair of perpendicular lines, then

la] =

A1l

B.4

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0T8KsgkIZgFt

97. The difference of slopes of the lines represented
by
y? — 2zysec® o + (3 + tan? a)( — 1 + tan® oz)acz = (
is
A 2
B.4

C.6

D.8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Q7chsJyw90fP

98. The angle between the pair of lines

20z +2)° +3(z +2)(y—2) —2(y—2)° =0is

D[N o3 w3 e

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Dr0XdpCjQO7i

99. The equation of the pair of lines through (1,-1)

and perpendicular to the pair of lines

w2—wy—2y2:0is

A2z’ —zy+ 1y  +5c+y+2=0
B.22° —zy— vy  — bz —y+2=0
2 2 e _
Czf—z2zy+2y"—5r—-—y—2=0

D.2w2—wy—y2+5w+y—2=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iomT8zxJAAy6

100. The equation of the line common to the pair of
lines
(p* —)z* + (¢ —r’)zy+ (r* —p’)y° =0

and (I — m)z® + (m —n)zy + (n — D)y*> = 0Ois

Ax+y=
B.x —y=20
C.x+y=pgr
D.x — y = pgr
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Nm0GTclCnRSX

101. If the pair of lines given by

2

(z° + y*)sin®a = (z cos a — ysina)’ are

perpendicular to each other then a =

AT
"2

B.O

N

o
w3y &3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KzgGrvEHjKl4

102. If a, h, b are in AP. then the triangular area
formed by the pair of lines az? + 2hzy + by* = 0

and thelinex — y = — 2is,in square units

a—>b
a® + b
a—2b
a—b
a+b’

a+b’

D. |(@"(2)+b"(2))/(a+b)|

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IYjnH6kUT2X4

103. If the equation
az® + 5zy — 6y? — 10z + 1ly + ¢ = 0, represents

two perpendicular lines then ¢ =

A.6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_znh5LdDQEXSN

104. The equation of the pair of lines through the

points (a, b) parallel to the coordinate axes is

A(z —b)(y—a) =0
B.(z —a)(y+b) =0
C(x—a)(ly—b) =0

D.(z+a)(y—0b) =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yBipJtCnWO2s

105. If the equation
Ax? — bxy 4+ 6y> + x — 3y = 0 represents a pair

of lines, then their point of intersection is

C.(3,1)

D. (1,3)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_OMtYxeMWDnJ9

106. The product of the perpendiculars from (-1,2) to

the pair of-lines 2z* — 5zy + 2y* = O'is

A4

B.3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NxJ8gHcNrMMV

107. Area of the triangle formed by the lines
3z —dzy+y> =0, 2 —y==6is

A.16

B. 25

C.36

D. 49

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ApTpXj30ldgw

108. The orthocentre of the triangle formed by the

lines z + 3y = 10 and 6z + zy — y* = Ois

A. (1,3)

B. (3,1)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ovIchWXYG0NZ

109. If one of the |lines of the pair
az’ + 2hzy + by® = 0 bisects the angle between
positive directions of the axes, then a, b, h satisfy

the relation

A.a + b= 2|h|
B.a+ b= 2|h|
C.a — b— 2|h|

D.(a — b)* = 4h?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Cn8a3ndx9to0

10. If the slope of one line is twice the slope of the
other in the pair of lines az® + 2hzy + by*> = 0
then 8h? =

A. —9ab

B. 9ab

C.7ab

D. —T7ab

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_paqyWSVPhSW2

11.If the pair of lines xy — z — y 4+ 1 = 0 and the

line ax + 2y — 3 = 0 are concurrent then a =

B.3

C.1

D.O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Jee2LLssPuWP

12. If the angle 20 is acute, then the acute angle
between the pair of lines
2%(cos 0 — sinf) + 2zycos @ + y*(cos f + sinf) = 0

IS

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CrhEpq3iN7P9

113. If the coordinate axes are the bisectors of the
angles between the pair of lines

az? + 2hzy + by®> = Owhere h?> > ab and a # b,

then
Aa+b=0
B.a—b=0

Ch=0,a+b#0

D.h #0,a+b=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zNrO25fL4nRw

1M4. If the pair of lines given by
azx® + 2hxy + by® = 0 (h2 > ab) forms an
equilateral triangle with Az + By 4+ C = 0 then
(a + 3b)(3a + b) =

A. h*

B. — h?

C. 2h°

D. 4h?

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nxbL3FaZDBos

115. The area of the triangle formed by the lines

r? +dey+y =0,z +y=1is

‘aa:l + 2hx1y1 + by |

\/(a—b) + 4h?

c2

2(a? + b2)
‘aazl + 2hx1y1 + by1|

\/(a +b)° + 4h?
‘aazl — 2hz1y1 + by1|

\/(a—b) + 4h?

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_svhbrCMfCdci

116. The product of the perpendicular distances
from the origin on the pair of lines

1222 + 252y + 12y + 10z + 11y + 2 = Ois

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_K5tL2HPxpUPQ

117. The centroid of the triangle formed by the pair

of lines 12z° —20zy+ 7y> =0 and the line

2 —3y+4=20is

>
VRN

|

| <3

| ~
N—

373

B.(_§ §)
373
C.(ﬁ §)
373
D,(i é)
373

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IDUcnWVZYdGr

118.1f m is the slope of one of the lines represented

by az® + 2hay + by? = 0, then (h + bm)? =

A h? — ab

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Uk3DsI3qBnTo

119. The perpendicular distance between the lines

922 — 24zy + 16y* + 21z — 28y + 10 = O'is

o
= ok ow o=

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IYZkEhdZWxHd

120. If the line px +qy =0 coincides with one of the
lines given by
az’ + 2haty + by? = 0then
A.ap® + 2hpg + bg® = 0
B.ag” + 2hpg + bg® =0
2 2
C.aq” — 2hpg + bp° =0

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NHjA2winnx8Z

121. Let PQR be a right-angled isosceles triangle
right-angled at P(2, 1). If the equation of the line QR
is 2¢ + y = 3, then the equation representing the
pair of lines PQ and PR is :
A. 32> — 3y? + 8zy + 20zy + 10y + 25 = 0
B.3z% — 3y? + 8zy — 202y — 10y + 25 = 0
C.3z% — 3y® + 8xy + 10z + 15y + 20 = 0

D.3z2 — 3y? — 8zy — 10z — 15y — 20 = 0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ljTcYgzmmoNg

122. If one of the lines of

my® + (1 — m2)xy —mz?=0

is a bisector of the angle between the lines xy=0
then mis

Al

B.2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8rFV12zQYbLq

123. If the gradient of one of the lines given by
z? 4+ 2hay + 2y®> = 0 is twice that of the other,

then h =

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zysQsHB63gpo

124. The angle between the lines
2’ —y? -2 —1=0is

A.90°

B.60°

C.75°

D. 36°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GGX6AxQYwctT

125. The product of perpendiculars let fall from the
point (z1,y;) upon the lines represented by

az’ + 2hzy + by® = 0is

A. (|az? + 2hz1y + by?|) <\/(a —b)° + 4h2>

B. (|az? + 2hz1y; + by?|) (\/(a —b)° + h2)

c ‘aw% + 2hx1y1 + by12|

\/<a—b)2+4h2

(‘aazl — 2hz1y1 + by ‘) (\/ a — b + 4h2)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZINAonGZZRIP
https://dl.doubtnut.com/l/_ScKF01rr4USW

126. Equation of pair of lines drawn through (1, 1)
and perpendicular to the pair of lines

3z — Tey + 2y° = 0is

A2z + 7T —1lz +6 =0

B.2(zx — 1)+ 7(z —1)(y—1) — 34> =0

2z - 1)’ +7(z—1)(y—1) -3y —1)° =0

D. none of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ScKF01rr4USW

127. The equatio y? — 22 + 2z — 1 = 0 represents

A. a hyperbola

B. an ellipse

C. a pair of lines

D. a rectangular hyperbola

Answer: C

o Watch Video Solution

128. The equation  4z?

represents

— 24zy + 11y° = 0


https://dl.doubtnut.com/l/_d8RbnfU4OhM7
https://dl.doubtnut.com/l/_KFOR99AUALnK

A. two parallel lines

B. two perpendicular lines

C. two lines through the origin

D. a circle

Answer: C

° Watch Video Solution

129. The equation of pair of lines joining origin to
the points of intersection of z?+ 3> =9 and

x+y=3is


https://dl.doubtnut.com/l/_KFOR99AUALnK
https://dl.doubtnut.com/l/_waM9nViHK5d5

Az +(3—xz)° -9
B.xzy =0
CB+y)+y* =9

D.(z —y)’ =9

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_waM9nViHK5d5

